Sr Questions Answers Choice

A, EA) Dbl sl
L e

ol S

ST ISTPS

1 U o O5S O5S (ped (S lla dae

Glale

O lalea
Chead

Al IS

Saiy el
I
A
S

2 S o oS Gl IS il 8 5 (s Spdlas
3 ?d.ﬂ)‘x\.ﬁcuﬁ_u‘_p

4 Uy e S (S plla e

LY Ly plSal S 4
et
5 § S s e o
= C‘““ c'hﬁ,.

3

oS4
JJ

i
BE3

6 fum S Sliay) ook

(&3
R : . 3¢
7 €l aand ol S i S :l
)
Jic
[S55)
dee 5 S8
Gl

8 € e U S (1S clalSal S sy g5 ) S S 08 S gl 3l

By ™
9 § o D) s S S Gl S o) e

= S e S e 5 Cipe
S55)

ak) BTN
Glalas
Rk
sl

10 § o W8 Ly U (e o 0 253me S (5lAe (o (08

DOm» DOmP DOWP UOEP UO®P» UOWF DOEP U0®» U0T> 00D



